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CHAPTER

Afier interchanging =+ and +, 12 and 18, which one of the
following equations becomes correct?

(SSC CGL 1% Sit. 2010)
(a) (90x18)+18=60 (b) (18+6)+12=2
() (72+18)x18=72 (d) (12+6)x18=36
Find out the correct answer for the unsolved equation on
the basis of the given equation

If 6*5=91
8*7=169
10*7=211
then 11* 10="2 (SSC CGL 1% Sit. 2010)
@ 331 (b) 93
) 678 (d) %5

In the following question, A stands for any of the
mathematical signs at different places, which are given as
choices under each question. Select the choice with the
correct sequence of signs which when substituted makes
the question. Select the choice with the correct sequence of
signs which when substituted makes the question as a correct

equation.

24A4A5A4 (SSC CGL 15t Sit. 2010)
(@) x+= (b) =x+

(c) +x= (d) None of these

Little wooden cubes each with a side of one inch are put
together to form a solid cube with a side of three inches. This
big cube is then painted red all over on the outside. When
the big cube is broken up into the original little ones, how
many cubes will have paint on two sides ?

(8SC CGL 1% Sit. 2010)
(@ 4 (b) 8
() 12 (d 0
Ashok's mother was 3 times as old as Ashok 5 years ago.
After 5 years she will be twice as old as Ashok How old is
Ashok today ? (SSC CGL 1%t Sit. 2010)
(a) 10 years (b) 15 years
(c) 20 years (d) 25 years
A bus leaves Delhi with half the number of women as men,
At Meerut, ten men get down and five women get in. Now
there are equal number of men and women. How many
passengers boarded the bus initially at Delhi ?

(SSC CGL 1% Sit. 2010)
(a) 36 (b)y 45
(c) 15 (d 30
A bus left with some definite number of passengers. At the
first stop, half the passengers left the bus and 35 boarded

1
the bus. At the second stop 3 th of the passengers left and

40 boarded the bus. Then, the bus moved with 80 passengers
towards its destination without stopping any where. How

many passengers were there originally ?
(SSC CGL 2™ Sit. 2010)
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Mathematical Operation
and Arithmetical
Reasoning

(@ 25 (b) 30
(c) 40 (d) 50
A man is 3 years older than his wife and four times as old as
his son. Ifthe son becomes 15 years old after 3 years, what is
the present age of the wife ? (SSC CGL 2" Sit. 2010)
(a) 60 years (b) 51 years
(c) 48 years (d) 45 years
If841=3,633=5425="Tthen217="

(SSC CGL 2™ Sit. 2010)
(a) 6 b) 7
(c) 8 (d 9
The following equations follow a common property. Find out
the correct value to complete D :
A=51(714)14:
B=61(915)15:

C=T71(1136)16:

D=81(?)17 (SSC CGL 2" Sit. 2010)
@) (1377) (b) (1378)
(c) (1356) (d) (1346)

After interchanging + and =, 2 and 3 which one of the
following statements becomes correct ?

(SSC CGL 2™ Sit. 2010)
(a) 15=2+3 (b) 5+15=2
() 2=15=+3 (d)y 3=2+15

25%2*%6=4*11%0
Which set of symbols can replace * ?
(SSC CGL 2™ Sit. 2010)
(El} (b) +1_a x:+
(c) (d)y x,+,+ x
Find the missing number from the given responses:
(SSC CGL 2M Sit. 2010)

Xa_a X,+

X, +, )(,_

6 |12
41314
3|2
18|27 | 96
(@ 4 (b) 5
(© 3 (d 6

£

Ravi has spent a quarter [%] of his life as a boy, one—fifth

(%} as a youth, one-third [15] as man and thirteen (13)

years in old age. What is his present age?
(SSC CGL 1% Sit. 2011)
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(a) 70 vears (b) 80 years
(c) 60 years (d) 65 years
Out of 100 families in the neighbourhood, 50 have radios, 75
have TVs and 25 have VCRs. Only 10 families have all three
and each VCR owner also has a TV. If some families have
radio only, how many have only TV?

(SSC CGL 15 Sit. 2011)
(b) 35
(d) 45

(a) 30
(c) 40

1 1
In a certain office, 3 of the workers are women, 3 of the

. 1 .
women are married and 5 of the married women have

2
children. If % of the men are married and Eof the married

men have children, then what part of workers are without

children? (SSC CGL 1t Sit. 2011)
5 4
- b —_

@ = ®
1 o

© T3 @ 3

If ' stands for '+' '+' stands for 'x', '+' for ' and 'x' for '+',
which one of the following equations in correct?
(SSC CGL 15 Sit. 2011)
30—-6+5%x4+2=27
30+6-5+4x2=30
(c) 30x6+5-4+2=32
(d) 30+-6x5+4-2=40
Some equations have been solved on the basis of a certain

system. Find the correct answer for the unsolved equation
on that basis. If9 * 7=32,13 % 7=120,17 * 9=208, then 19

(@)
(b)

*11=? (SSC CGL 1%t Sit. 2011)
@ 150 (b) 180
© 210 (d) 240

Forecast the Growth Rate for the year 1995 from the following

data: (SSC CGL 15t Sit. 2011)
Years > | 1990 | 1991 | 1992 [ 1993 | 1994 | 1995

Growth | 35| 35| 41 |49 | 65| °

Rate —»

(@ 78 (b) 86

© 97 ) 99

The population of rats is increasing year after year in a village.
Find out the missing population from the following

information: (SSC CGL 2" Sit. 2011)
Years 1990 1991 1992 1993 1994 1995
Population 4 8 16 ? 44 64

(a) 22 by 32

(c) 28 (d 34

Shan is 55 years old, Sathian is 5 years junior to Shan and 6
years senior to Balan. The youngest brother of Balan is Devan
and he is 7 years junior to him. So what is the age difference
between Devan and Shan? (SSC CGL 2™ Sit. 2011)
(a) 18 years (b) 15 years

(c) 13 years (d) 7 years
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There are 80 families in a small extension area. 20 per cent of
these families own a car each. 50 per cent of the remaining
families own a motor cycle each. How many families in that
extension do not own any vehicle?(SSC CGL 2" Sit. 2011)
(a) 30 (b)y 32
(c) 23 (d) 36

Some equations have been solved on the basis of certain
system. Find the correct answer for the unsolved equation
on that basis. (SSC CGL 2™ Sit. 2011)
1f94+16=42,89+23=78, then 63 +45="
(a) 18 (b) 28
(c) 38 (d) 48

Some relationships have been expressed through symbols
which are explained below:
0= greater than
A =not equal to

x =not less than

+=equal to
¢ =not greater than
v = less than
a Vv b Vv cimplies (SSC CGL 1% Sit. 2012)
(a) aAb ¢c (b) adpb+c
(c) a0b+c (d) aObxc
If54+43=2,60+51=10, then62+72="?

(SSC CGL 1% Sit. 2012)
(a) 30 (b) 18
(c) 20 (d 9

If L denotes * M denotes + ; P denotes +; Q denotes —
then I6P24M8Q6M2L3=? (SSCCGL 15 Sit. 2012)

@ 10 ®) 9
© 12 @ 1
If16-2=2,9-3=0,81 — 1 =8, then what s 64— 4?

(SSC CGL 1% Sit. 2012)
@@ 4 (b) 2
© 6 d 8

Volume of a sphere is equal to the volume of a hemisphere. If

the radius of the hemisphere is 332 em, then the radius of

the sphere is equal to (SSC CGL 15t Sit. 2012)

(@) 932 em (b) e2em

(c) 27cm (d) 3cm

If64 +14=5,92+31=7,26+11=6,then 56 +22=_2
(SSC CGL 2™ Sit. 2012)

(a) 11 (b) 39

(c) 7 (d) 36

If P denotes +, Q denotes x, R denotes +, and S denotes —,

then, 1 8Q12P4R5S6=_2 (SSCCGL 2" Sit. 2012)
(@) 9% (b) 53
(¢) 51 (d) 57
[f25+5=15,30+6=20,then35+7=_2_

(SSC CGL 2™ Sit. 2012)
() 20
(d) 25

(@ 75
(c) 50
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If 33 +45=30,90+26=40, then 30+ 45= 7

(SSC CGL 2™ Sit. 2012)
(a) 15 (b) 14
(c) 16 (d) 18
The average age of 25 suboridinates in an office is 30 years.
Ifthe age of Manager is added, the average increases to 31
years. What is the age of the Manager?

(SSC CGL 15 Sit. 2012)
(a) 26 (b) 36
(c) 46 (d) 36
Class A has students twice that of class B. After adding 20
students to class A and 30 students to class B, the total
number of students in both the classes is 140. What is the
number of students in class A in the beginning?

(SSC CGL 15 Sit. 2012)
(a) 30 (b) &
(c) 8 (d) 140
Find the lowest number which when divided by 8, 12, 15 and
20 leaves the remainder 2.  (SSC CGL 15t Sit. 2012)
(a) 360 (b) 242
(c) 122 d &

If38+15=66and 29+ 36=99, then 82 +44=7

(SSC CGL 1% Sit. 2012)
(@) 77 (b)y 88
(c) 80 (d
If+ means +, — means %, X means +, + means —, give the value
ford5+9-3x15+2 (SSC CGL 1%t Sit. 2012)
(a) 40 (b) 36
(©) 56 (d 28

From the given details, estimate the number of people
affected by Tuberculosis in particular locality in the year
1994 (SSC CGL 1% Sit. 2012)
1994 1995 1996 1997 1998

? 92 113 141 176
(a) 9 (b)y &
) M (d 78
A boy’s age is one fourth of his father’s age. The sum of the
boy’s age and his father’s age is 35. What will be father’s age
after 8 years? (SSC CGL 2" Sit. 2012)
(a) 15 (b)y 28
() 35 (d) 36
If+ means -, —means %, x means +, + means—, then
90+ 18—6x30 +4=7 (SSC CGL 2™ Sit. 2012)

@ & (b) 6
© 56 (d) 48
If 73 +46 =42 and 95+ 87=57, then 62 + 80 ="

(SSC CGL 2™ Sit. 2012)
@ 32 (b) 48
) 64 d 36

Based on the given data, estimate the number of ‘Television-
buyers’ for the year 1990. (8SC CGL 2" Sit. 2012)

1982 1984 1986 1988 1990
447 458 489 540 ?

@) 611 (b) 591
© 571 (d 601
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A car travels 20 miles in the same time as another car, travelling
20 MPH faster, covers 30 miles. How long does the journey
take? (SSC Sub. Ins. 2012)
(a) 31 minutes (b) 29 minutes

(c) 30minutes (d) 28 minutes

Complete the third equation on the basis of a certain system
followed in the first two equations.

L. 1x8x5x3x7=73581

2. 5xTx6x2x4=42675

3. 9x4x3x2xB=7? (SSC Sub. Ins. 2012)

@) 83924 (b) 82349
() 28394 (d) 28934
If64 + 53 =4,86+42 =4, then
83+72=2 (SSC Sub. Ins. 2012)
@ 12 (b) 10
© 15 @ 18

If Q means add to, ] means multiply by, T means subtract
from, K means divided by, then
30K2Q3J6T5="?

(a) 18 (b) 28

(c) 31 (d) 103

If I means “x°, You means ‘=, We means ‘—" and He means

‘+*, then what will be the value of 8 1 12 He 16 You 2 We 10?
(SSC Sub. Ins. 2012)

(SSC Sub. Ins. 2012)

(a) 45 (b) M

(c) 9 (d) 112

At present, the ratio between the ages of Arun and Deepak
is4: 3. After 6 years, Arun's age will be 26 years. What is the
age of Deepak at present? (SSC Sub. Ins. 2013)
(a) 15 years 19 years

(c) 24 years 12 years

(b)
(d)

DIRECTIONS (Qs. 49-50) : In each of the following questions,.
some equations are solved on the basis of a certain system. On the
same basis, find out the correct answer for the unsolved equation.

49.

50.

51

52.

53.

www.jkchrome.com

(S ub. Ins.

13)

If235=38 and 452 = 45, then 345 =2
(@) 49 (b) 6

© 7 ) 50

2% 3=49,5x6=2536,1x9=181,4 x 7=?
(a) 1628 (b) 1649

() 2549 ) 1219

If “x’ means “+°, *+" means ‘—’, + means ‘+’ and " means “x”
then what should be the value of the given equation?
14x4+70+10-2="7

(ay 33 (b) 15

(cy 30 d) 4

Select the correct combination of mathematical signs to
replace * signs and to balance the given equation.
5¥5%5*%3%10

(a) x+=x (b) +—x=

(c) +=+=x (d +=+x=

If*+" means *+’ ; “+"means ‘-’ ; “~"means ‘%’ ; <" means ‘+’,
then

B+2+3-4x6="7 (SSC CHSL 2012)
(a) —12 (b) 2

(c) -10 (d) 15
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Choose the appropriate combination of signs to solve.
16*8*1*8 (SSC CHSL 2012)
(a) =-+ (b) —+=

© +-= @) +=-

The percentage of Laptop users are increasing year after
year in India. Find out the percentage of Laptop users for the
year 2011 from the following information.

(SSC CHSL 2012)
Year 2006 {2007 | 2008|2009 |2010|2011
No. of users (%) | 4 8 16 | 28 | 44 | ?

(a) 62 (by &4
(c) 606 (d)
[f4x2x6=1626,3xT7x4=974 then5x6x8§="7

(SSC Multitasking 2013)
(a) 3658 (b) 2568
(c) 5664 (d) 6456

If*+" means *+’, **'means ‘+°, *~" means “x’ and ‘=" means ‘*—
*, then which of the following equations is correct?

(SSC Multitasking 2013)
(a) 36+6-3x2=20
(b) 36x6+3-2<20
(¢) 36%x6+3x2>20
(d) 36+6x3+2=20
A father is 5 times as old as his son. His son is 6 years old.
Afiter how many years, will the father be 4 times as old as his

son? (SSC Multitasking 2013)
(a) 2 years (b) 5 years
(c) 6 years (d) 4 years

What is the least number to be subtracted from 2486 to make
it a perfect square ? (SSC CGL 1 Sit. 2013)
(a) 80 (by &
(c) 90 (d 9
In a question paper, there are 12 questions in all out of which
only six are to be answered. Six questions have an alternative
each. Each question has four parts. How many questions
including parts are there in the question paper?

(SSC CGL 1% Sit. 2013)
(@ 24 (b)y 48
() 72 (d) %
If % stands for addition, < for subtraction, + stands for division,
> stands for multiplication, — stands for equal, + stands for
greater than, and = stands for less than, state which of the

following is true ? (SSC CGL 1% Sit. 2013)
(1) 3%x2<4+16>2+4 (2) 5>8+4=10<4x8
(3) 3%x4>2-9+3<3 (4 5x3<3+8+4x1
(a) Onlylistrue (b) Only2istrue
(¢) Both2and4istrue (d) Only3istrue
If55+66=33and 22 +99 =33 what is44 + 88 ?

(SSC CGL 1%t Sit. 2013)
(a) 33 (b) 36 (c) 38 (d) 40
Pipe A can fill a tank completely in 5 hours. However, on
account of a leak at the tank, it takes 3 more hours to fill the
tank. How long will the leak take to empty the full tank when
pipe A is closed/shut ? (SSC CGL 15t Sit. 2013)

(@) 13hours20minutes (b) 7.5hours
(c) l4hours40minutes (d) 12hours 20 minutes
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If*+* stands for “multiplication’, *<” stands for *division’, *=
stands for “subtraction’, ‘- stands for ‘addition’ and *x°
stands for *greater than’, identify which expression is correct.
(SSC CGL 2" Sit. 2013)
(a) 20-4+4+8<2x26 (b) 20x8+15<5+9-8
() 20<2+10+4-6x100 (d) 20<5+25+10-2%96
Which of the following interchanges of numbers would make
the given equation correct?
8x20+3+9-5=38 (SSC CGL 15 Sit. 2013)
(a) 89 (b) 3,5 (¢) 3,9 (d) 3.8
Put the correct mathematical signs in the following equation
from the given alternatives.

332112326=115 (SSC CGL 1% Sit. 2013)
(a} Ky+s— (b) xR
© —x+ (d) F.mx

Select the correct combination of mathematical signs to
replace * signs and to balance the given equation.
15%24*3%6%17 (SSC CGL 15 Sit. 2013)
(a) +x== (b) —x=+
(c) —x+= (d) +=+—=
If*~’ stand for addition, “+’ stands for subtraction, “+’ stands
for multiplication and “x” stands for division, then which one
of the following equations is correct?

(SSC CGL 15 Sit. 2013)
(a) 25x5+20-27+7=120
(b) 25+5x20-27+7=128
(c) 25+5-20+27x7=95
(d) 25-5+20%x27+7=100
In the following question, some relationship have been
expressed through symbols which are
x = greater than 0 =not less than

+=less than P = not greater than

+=equal to ¢ =not equal to,

then A ® B x C implies (SSC CGL 1%t Sit. 2013)
(a) BoC (b) A+C

(c) A¢C (d BBC

If63—30=30,72-10=40, then 81-60="?
(SSC CGL 15! Sit. 2013)
(@ 30 (b) 35
() 15 (d 20
The average age of father and his son is 22 years. The ratio
of their ages is 10 : 1 respectively. What is the age of the son ?
(SSC CGL 15! Sit. 2013)

(a 24 (b) 4
() 40 (d) 14
In a certain code, LONDON is coded as

24 — 30 — 28 — 8 — 30 — 28. How will FRANCE be coded?
(SSC CGL 1% Sit. 2013)

10-24—6-28—6-12

12-26—-6-28—8—10

(€ 12-36-2-28-6-10

(d) 12-26-2-28-8-10

If 29 x 48 = 576, 35 x 16 = 90, 22 x 46 = 96, then

(@)
(b)

42x17=" (SSC CGL 1% Sit. 2013)
(@ 56 (b) 286
(€ 8 (d) o4
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If'P'denotes' 'multiplied by, "T" denotes 'subtracted from', 'M'
denotes 'added to' and 'B' denotes 'divided by' then : what
should be the correct response of

12P6M 15T 16B4? (SSC CGL 1% Sit. 2013)
@ 70 () 75
© 8 (d 110

If+=Greater than, = Not greater than, —= Not less than, x
=Equal to, |= Less than and L= Not equal to, then of A | B x
C which of'the following is true ? (SSC CGL 15t Sit. 2013)
(a) B+C|A (b) C—B+A

(c) BIA|C (d A¢B|C

Identify one response which would be a correct inference
from the given premises stated according to the following
symbols :

'A' stands for not greater than

'B' stands for equal to

'C' stands for less than

'D' stands for not less than

'E' stands for not equal to (SSC CGL 1%t Sit. 2013)
'F' stands for greater than Premises (2 M B N) and (2N A 3K)

(a) 2MD3K (by 2MB3K

(¢) 2MC3K (d) 2KB3N

Rahim and his uncle differ in their ages by 30 years. After 7
years, if the sum of their ages is 66, what will be the age of the
uncle ? (SSC CHSL 2013)
(@) 39 (by 4l

(c) 31 (dy 49

DIRECTIONS : In questions no. 78 and 79, some equations are
solved on the basis of a certain system. On the same basis, find
out the correct answer for the unsolved equation.

78.

8L.

(SSC CHSL 2013)

If 782=20
and 671=17, then

884="7
(a) 26 by B3
() 32 (d 19
5%x6%x4=456,3%6%5=536,
4x8x7="7
(a) 847 (b) 784
(c) 748 (d) 478

Select the correct combination of mathematical signs to
replace * signs and to balance the given equation.

9g*7*2*3%10 (SSC CHSL 2013)
(a) +—x= (by —=x=

(€) =x+= (d —+==

If “+* denotes +, *—" denotes %, **’ denotes —and ‘<" denotes
+, then

35+7-5+5%6="7 (SSC CHSL 2013)
(a) 20 (b) 14

(c) 36 (d 24

3 daily wage workers A, B and C are distributed ~ 178 in such
away that A gets ~ 4 lessthan C, B gets ~ 15 more than A and
C gets ~ 11 less than B. What is the ratio of their shares?

(SSC CHSL 2013)
(a) 53:68:57 (b) 57:53:68
(©) 50:51:52 (d) 53:56:68
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A Woman has only 25 pand 50 p coins in her bag. Ifin all she
has 40 coins which total rupees 12.75, then the number of 50

p coins is (SSC Stenographer 2013)
(a) 15 (b) 17
(¢ 1 (d 13

The age of Sunita's father today is four times as that of her
age. Afier 8 years, the age of her father will be three times
that of her age. What is Sunita's age today?

(SSC Steno. 2013)
(a) 24 years (b) 20 years
(c) 18 years (d) 16 years
If5+7=21and9+4 =31, whatis7+9="?

(SSC Steno. 2013)
(a) 4l (b) Sl
(c) 6l d 71
If532+ 781 =21 and 862 +910= 21, then what is the value of

796 +355=" (SSC Steno. 2013)
@ 21 (b) 30
© 31 @d 2

If *—" stands = ; ‘+* stands for “x”; *+’ stands for ‘-’ and ‘%’
stands for *+°, which one of the following is correct?

(SSC Steno. 2013)
@ 10+5-5+5x5=10
(b) 10-5+5+5%x5=25
(¢) 10x5+54+5-5=0
(d 10+5%x5+5=5
Praveen is twice as old as Roopa and 6 years older than
Deepak. If Deepak is 12 years, How old is Roopa?

(SSC Steno. 2013)
(a) 9 (b) 8
() 11 (d 6
If pmeans -,  means +, r means +~and s means %, then 18p 6

qé4s6r2="7 (SSC Steno. 2014)
(a) 24 (b 12
(c) 26 (d) 128

If9—8—-7=876,6 — 4 —2=531,then8—-5-3="7
(SSC Steno. 2014)
(a) o647
(c) 742
If'—" denotes '+'
'+' denotes "x'
'+' denotes "'
'x' denotes '+
then27 x3+6+9—-8="7
(a) 53 (b) 35
() 15 (d) 145
What will be the correct mathematical signs that can be
inserted in the tollowing 7

b) 741
@ 57

(SSC Steno. 2016)

4624 8=30 (SSC Steno. 2016)
(@) ++—x (b)y x+—+
(c) —x++ (d) ++x—

Select the correct combination of mathematical signs to
replace * signs and to balance the following equation :
3IS5*FT*E25*]5%2
(SSC Multitasking 2014)
+ ==X = +=x
Xx= =+ +

(a)
(©)

(b)
(d)

= =+ X
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Some equations are solved on the basis of a certain system.
Find the correct answer for the unsolved equation on that
basis.
If7x9x6x5=5xTx4x3,
then8x4x14x12="7
(a) 5x3x7x10 (b) 6x3x9x11
(c) 6x2x12x10 (d) 6x4x8x9
Aninsect is walking in a straight line. It covers a distance of
15 cm per minute. It comes back 2.5 cm after every 15 cm.
How long will it take to cover a distance of 1 metre ?

(SSC CGL2014)

(SSC Multitasking 2014)

(a) 6.5min (b) 8min

(¢) 10min (d) 12min

If 1 candle in box number 1 is placed in box number 2, then

box-2 has twice the number of candles that box 1 has.

If1 candle from box-2 is placed in box-1, the box-2 and box-1

have the same number of candles.

How many candles were there in box-1 and box-2 ?
Box—1Box-2 Box-1Box-2

(SSCCGL2014)
@ [s]:[3] ®) [7]:[s]
© [6]:[4] @ [s]:[7]

Which ofthe following interchange of signs would make the
equation correct 7

6x4+2=16 (SSCCGL 2014)
(a) +andx, 2&4 (b) +andx,4&6
(c) +andx,2&6 (d) +andx,3&4

Select the correct combination of mathematical sings to
replace the * signs and to balance the following equation :

45*3*6*2%16 (SSC CGL 2014)
(@) +x &= (b) ++ x=
() +x—= (d) ++-—=

Select the correct combination of mathematical signs to
replace * signs and to balance the following equation :

8*5%10*2%*25 (SSC CGL 2014)
(@) +x += (b) ++ =
(c) x+=x (d) x—=x

On one side of a street are even numbers and on the other
side are odd numbers. No. 1 is exactly in front of No. 2. My
Houseis No. 9. From my house , a man comes up from No. 2
and knocks at the door, five doors beyond the house infront
of me. What is the No. of that house ?

(SSCCGL 2014)
(a) 18 (b)y 20
c) 2 (d 26
Govind is 48 years old. He is twice as old as his son Prem is
now. How old was Prem seven years before ?
(SSC Sub. Ins. 2014)
(a) 16 (by 17
(c) 13 (d) 18

If'-' stands for '+', '+' stands for '<', 'x' stands for ' then
which one of the following is not correct ?

(SSC Sub. Ins. 2014)
(@) 22+7-3x9=148 (b) 33x5-10+20=228
(c) 7+28-3x52=127 (d) 44-9+6x11=87
Some equations are solved on the basis of a certain system.
Find the correct answer for the unsolved equation on that
basis. (SSC Sub. Ins. 2014)
5%6=35,8%4=28,6%8="7
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(a) 46 (b) 4

(c0 23 (d) 38

Select the correct combination of mathematical signs to
replace * signs and to balance the following equation.
12%¥3*%4=6%8*8 (SSC Sub. Ins. 2014)
(a) +,x,—x (]3) X+, — %

(c) »x,+,%,— (d) X, — X, +

Mani is double the age of Prabhu. Ramona is halfthe age of
Prabhu. If Mani is sixty, find out the age of Ramona.

(SSC CHSL 2014)
@ 20 ®) 15
(© 10 d 24
Let
N=11 0=13 P=17

Find the letter to be in the box in the relation given :

(Nx |:|+M) +K=31 (SSC CHSL 2014)
(@ L (b) P
(© I @ o

Some equations are solved on the basis of a certain system.
On the same basis, find out the correct answer for the

unsolved equation. (SSC CHSL 2014)
2x3x4=432, 5x6%T7=765

7 x8=x9=987, 2x5x7="7

(a) 572 (b) 752

(c) 725 (dy 257

The overall rainfall in certain region of India decreases year
after year. Find out from the data the trend in decrease.

(SSC CHSL 2014)
Year Rainfall (in mm)
2009 26
2010 25
2011 23
2012 20
2013 16
2014 11
2015 ?
(a) 6mm (b) 7mm
(c) 5mm (d) 8mm

A train starts from station A and reaches B 15 minutes late
when it moves with 40 km/hr and 24 minutes late when it
goes 30 km/hr. The distance between the two stations is

(SSC CGL 1% Sit. 2015)
(@) 16km (b) 18km
(¢) 2lkm (d) 24km

If, + stands for division; x stands for addition ; — stands for
multiplication : + stands for subtraction, which of the following

is correct ? ESSC CGL 1%t Sit. 201 5?
A, 46x6+4-5+3=74

B 46—6+4x5+3=71

C. 46+6%4-5+3=755

D. 46x6—-4+5+3=70.1

(a) D (b) B

(© A @ C
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. If+=x,—=+ x=+, +=— then which is the correct equation
out of the following? (SSC CGL 1 Sit. 2015)
(a) 18+6+4-2+3=22
(b) 18+6-4x2+3=26
(c) 18x6-4+7x8=47

(d) 18—6x7+2+8=63

Find the number that is common for all of the clue's given
below : (SSC CGL 15t Sit. 2015)
(A) Virgo

(B) Volleyball

(C) Highest scoring shot of a particular sport

(D) Extra sensory perceptions.

(a) 8 (b) 4

(c) 2 (d 6

To identify the correct response from the given premises
stated according to following symbols.

'A' stands for not less that (x)

'B' stands for not equal to( =)

'C' stands for not greater than (x)

'D' stands for greater than (>)

'E' stands for less than (<)
'F' stands for equal to (=)
Premises4YF3x and 3xF6Z
(a) 2YF3Z

(SSC CGL 15t Sit. 2015)
(by 4YB5Z
(c) 2YD3Z (d 2YE3Z
If'+ means '<', "' means '+, '<' means ' and '+' means '+', then
what will be the valueof 16 + 64— 8x 4+ 27
(SSC CGL 1%t Sit. 2015)

(a) 12 (b) 24
() 16 (dy 18
Two persons A and B get the same salary. Their Basic pay
are different. The allowances are 65% and 80% of the basic
pay respectively. What is the ratio of the basic pay ?

(SSC Sub. Ins. 2015)
(@) 75 (b) 1715
(c) 12:11 (d) 1110
A man climbing up a wall of 24 metres high, climbs 16 mon
one day but slipped back by 3m 40cms in the evening. How
far had the man reached on that day? (SSC Sub. Ins. 2015)
(a) 12.6m (b) 19m40cm
(¢) 12m40cm (d) 114m
Two horses A and Brun at a speed of 3:2 ratio in the first lap;
during the second lap the ratio differs by 4:7; during the
third lap the ratio differs by 8:9. What is the difference in
ratio of speed altogether between the two horses.

(SSC Sub. Ins. 2015)
(@ 3 (b)y 2
(c) 4 (d 1
If a represents +, ‘b’ represents +, “c’ represents — and ‘d’
represents X then 24a 6d 4b 9¢c 8 =7 (SSC Sub. Ins. 2015)
(a) 6 (b)y 17
() 20 (d) 19
Some equations are solved on the basis of certain system.
find out the correct answer for the unsolved equation on
that basis: 7x6x4=674,8 x5x 3=583,9x1x2="7

(SSC Sub. Ins. 2015)
(a) 727
(c) 192

(b) 292
(d) 462
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Change the symbol and solve accordingly to find out correct
answer from the alternatives given below 9 x 8 x 7=24,4 %7
x3=14,2x1x9=7 (SSC Sub. Ins. 2015)
(@) 12 (b) 11

(c) 18 (d) 10

If ' stands for addition, '+' stands for multiplication, '+"'
stands for subtraction and 'x' stands for division, which one
of the following equations is correct? (SSC CHSL 2015)
(a) 5+2-12x6+2=10(b) 5+2+12x6-2=4

(c) 5-2+12%x6+2=27 (d) 5+2-12+6%x2=13

If P denotes + Q denotes x, R denotes + and S denotes —,
then 16Q12P6R5S4? (SSC CHSL 2015)
(a) 32 (b)y 33

(c) 30 (d) 31

Some equations have been solved on the basis of certain
system. Find the correct answer for the unsolved equations

on that basis ? (SSC CHSL 2015)
If72 x 19=23, 13 x 48 =35and 16 x 43= 18 then 39 x 22 = ?
@ 27 (b) 5l
(© 31 @ 21

If+ means +, + means %, and x means +, then following will
be :
64+8x32+4

(SSC CHSL 2015)
(@) 128 (b) 160
(c) 136 (d 144

If *x” means “addition’, ‘—" means ‘“division’, */* means
‘subtraction’ and “+” means ‘multiplication’, then which of
the equation is correct (SSC CGL 15t Sit. 2016)
(a) 25+10-5/10x3=43

(b) 25-10x5+10/3=72

(c) 25x10/5+10-3=12

(d) 25/10+5%x10/3=18

In this question, some equations are solved on the basis of
a certain system. On the same basis find out the correct
answer from amongst the four alternatives for the unsolved

equation.

53-34=5334

65—46=6456

75-24="7 (SSC CGL 15! Sit. 2016)
(a) 7542 (b) 7524 (c) 7452 (d) 7254

LR}

If “+* means */°, */* means -,
then24 +8/2-6 x6="7

(@ -10 (b)y 3
(©) 12 (d) 21
In this question, some equations are solved on the basis of
a certain system. On the same basis find out the correct
answer from amongst the four alternatives for the unsolved
equation.

Tx6x8=678

§x9x7=0987

6x 5x7=567

5x4x6="?

(a) 456 (b) 564

(¢c) 645 (d) 654

If"x' means addition, - means division, +' means subtraction
and '+' means multiplication, then which of the equations is
correct? (SSC CGL 1%t Sit. 2016)
(a) 16x5+10+4-3=19

(b) 16+5+10%x4-3=9

(c) 16+5-10x4+3=9

(d 16-5x10+4+3=12

means ‘%x°, “x” means ‘+°,
(SSC CGL 15t Sit. 2016)

(SSC CGL 1% Sit. 2016)
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If4x5%x2=524,3x7%x2=723 and 6 x 8 x 7=876 then 9 %
4x5=7 (SSC CGL 15 Sit. 2016)
(a) 495 (b) 459 (c) 549 (d) 954
If' +'means minus, ' - ' means multiplication, ' +' means plus,
and '<' means division ,then 15-3+10x5+5

(SSC CGL 15t Sit. 2016)
(a) 52 (b) 48 (c) 2 (d) 5
A certain system is followed to solve the problem.

Accordingly find out the correct answer from the alternatives
for the unsolved equations.

7x4%x9=479

9x5x2=592

6%9%5=965

8x6x2=" (SSC CGL 1%t Sit. 2016)
@ 286 (b) 682 (c) &8 (d) 268

The age of Dr. Pandey is four times the age of his son. After
10 years , the age of Dr. Pandey will be twice the age of his
son . The present age of Dr. Pandey's son is

(SSC CGL 1% Sit. 2016)
(a) 4 years (b) 5 years
(c) 6 years (d) 8 years

Mona is 6 years younger to her husband and he is 5 times
as old as his daughter Rina. If Rina was 5 years old 3 years

back, what is the present age of Mona?  (SSC SI 2016)
(@ # (b) 35
(c) 40 (d 30
If678 =83,476 =75 and 567 = 80, what is 369 =7

(SSC SI 2016)
(a) 18 (b) 40
(c) 72 (d) 9

In a peculiar mathematical operation, plus means
multiplication, minus means plus, divided means minus and
multiplication means sum of digits of two numbers. Follow
these rules and solve the following example.(SSC SI 2016)

(6x7)—(8x9)—(10x11)=2
(a 04 (b) 51
(© 4 @ 33

Rakhi got engaged 10 years ago. Rakhi's present age is 5/3
of her age at the time of engagement. If the present age of
Rakhi's mother is twice that of present age of Rakhi, then
what was her mother's age (in years) at the time of her

engagement. (SSCCGL2017)
(@ 30 (b) 40
(0 30 (d) 60

In the following question, correct the equation by

interchanging two signs. (SSC CGL 2017)

9x3+8:4-7=28

(a) =and-— (b) +and-—

(¢) ~+and+ (d) xand+

1f4*5%3=8000and 2 *3 % 2=36,then4 *3 % 3 =?
(SSC CGL2017)
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(a) 432 (b) 1728

() 36 (d) 144

Nine years later, age of B will be equal to the present age of
A.Sum of A'sage 3 years later and B's age 4 years ago is 76.
If C is half of the present age of B, then what will be C's age

(in years) after 10 years? (SSCCGL 2017)
(a) 32 (b) 36

() 27 (d) 31

In the following question, correct the equation by
interchanging two signs. (SSCCGL2017)
4x3-6+2+7=8

(a) —and+ (b) =and-

(¢) =+andx (d) =*and+
If3#4%8=6and9%4#3=12,then 12%6#24="

(SSCCGL2017)

@ 4 (b) 3

() 5 (d) 6

In the following question, by using which mathematical
operator will the expression become correct?

187679727 (SSCCGL 2017)
(a) x,+and= (b) +.xand=
() x,+and= (d) +,—and=
If 18 (9) 3 and 36 (30) 5, then what is the value of Ain 19 (A)
18?7 (SSCCGL 2017)
(@ 33 (b) 57
(c) 75 (d) 9%
Theratio of present ages of P and Qis 5 : 8. Three years later
their ages will bein ratio 8 : 11. What is the present age (in
years) of Q? (S8CCGL 2017)
@ 5 (b) 11
() 14 (dy 8
If “P”denotes “multiplied by”, “R”denotes “subtracted
from™, *“S™ denotes “added to ** and “Q" denotes “divided
by”, “then which of the following equation is true?
(SSCCGL2017)
(a) 18BR60DQ15S2=8(b) 15S16Q2P4=47

(c) 3P5R18Q3=6 (d) 15828Q4P2=27

If4*7#2=36land5*9*%1=480,then2*1*3="7
(SSCCGL2017)

(a) 312 (b) 324

(c) 210 (dy 102

If*+” means “minus”, “<” means “divided by”, “ + " means

“plus” and *—"" means “multiplied by”, then

126 x 14+7-3+2=" (SSC CHSL 2017)
(@ -10 (b) —12
© —17 (d) —41

Some equations are solved on the basis of certain system.
Find out the correct answer for the unsolved equation on

that basis. (SSC MTS 2017)
If12x9=810and 15%9=513then 13 x 8 ="

@@ 104 (b) 410

(©) 411 (d) 401

The total age of a mother and her daughter is 60 years. The
difference between their ages is 30 years. Find out the age

of mother. (SSCMTS 2017)
(a) 40 years (b) 55 years

(c) 45 years (d) 50 years

IfP denotes '+ ', Q denotes "%, R denotes '+'and S denotes '—
', then 18Q12P4R5S56 is equal to: (SSCMTS 2017)
(a) 65 (b) 36 (c) 53 (d 34
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In the following question, by using which mathematical
operators will the expression become correct?

1472742674 (SSC Sub. Ins. 2017)
(a) x,+,>andx* (b) =,x%,>andx

(¢) =,+,=andx (d) +,+,>andx

In the following question, correct the equation by inter-
changing two signs. (SSC Sub. Ins. 2017)
43+9-6+3x8=50

(@) +andx (b) +and =+
(¢) —and+ (d) —andx
If4*9%2=47and9*0% 6 =84,then5*3%7="
(SSC Sub. Ins. 2017)
(a) 38 (b) 51 (c) 42 (d) 46
If 1/4/3 =254 and 3/6/8 =479, then 5/2/7 ="
(SSC Sub. Ins. 2017)
(a) 416 (b) 4ol (c) 368 (d) 638
If85x 5—3=20and 18 x 2—1 =10, then 100 x 20—-5=?
(SSC Stenographer 2017)
(a) 15 (b) 20 (c) 10 (dy 13
By interchanging which two signs the equation will be
correct?
25+ 18+2-4=20 (SSC Stenographer 2017)
(a) +and=+ (b) +and-
(¢) +and- (d) None of these

Present ages of Aand Bare inratio 3 : 5, 7 years later B's age
will be twice the age of C. If C celebrated his 10" birthday 4
years ago, then what is the present age (in years) of A?
(SSC Stenographer 2017)
(a) 14 (by 21 (c) 28 (dy 42
Nisha and Deepak are a married couple and have a daughter
named Tanya. Currently, Deepak is 5 years older than Nisha
and Nisha is thrice the age of Tanya. If Tanya is 10 years old,
what was her father’s age at the time of his daughter’s birth?
(SSC CGL 2018)

(@) 35years (b) 25 years

(c) 30years (d) 20vears

Which two signs should be interchanged in the following
equation to make it correct? (SSC CGL 2018)
Ex2+5-16+4=14

(a) xand- (b) xand+

(¢) +andx (d) +and+

The sum of the current ages of Shipra and Malini is 65 years.
After 5 years, Shipra’s age will be 15 years more than Malini’s

age. What is Malini’s current age? (SSC CGL 2018)
(a) 25years (b) 30 vears

(c) 15years (d) 20vears

Which two signs should be interchanged to make the
following equation correct? (SSC CGL 2018)
5+16-4x14+2=59

(a) xand+ (b) +and x

(¢) +and-— (d) +and-

Which two signs should be interchanged in the following
equation to make it correct? (SSC CHSL 2018)
15+15-2%10+35=16

(a) +and- (b) =xand~+

(¢) xand- (d) +and~+
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Which two signs should be interchanged to make the
following equation correct? (SSC Sub. Ins. 2018)
18+12x8-6+3=9
(a) +andx (b) +and+
(c) —andx (dy xand+
Which two numbers should be interchanged to make the
given equation correct? (SSC Sub. Ins. 2018)
9+4+2-6%x3=4+3x6-9+1
(a) 6and4 (by 4and9
(c) 4and2 (d) 6and3
Which of the following interchanges of signs and numbers
would make the given equation correct?

(SSC Sub. Ins. 2018)
12+4+2-6x3=3+12+6x2-4
(a) xand+,4and6 (b) +and+,6and4
() xand-—,4and6 (d) —and+, 6and 4
If *A’is replaced by *+’; if "B’ is replaced by *—'; *C’ isreplaced
by “+’; and ‘D’ replaced by “x’, then find the value of the

following equation. (SSC Stenographer 2018)
20A15C3D8B9

(a) 65 (b) 51 (c) 55 (d) 53

Find out the two signs to be interchanged for making
following equation correct: (SSC Stenographer 2018)
25+5°7-12,3=26

(a) +and-— (b) +and x

(¢c) +and=+ (d) —and+

Find out the two signs to be interchanged for making
following equation correct. (SSC Stenographer 2018)
5+3x4-12+2=-1

(a) +and- (b) +andx

(c) +and+ (d) xand+

If “A’ is replaced by “+°; if “B’ is replaced by *—*; ‘C’is
replaced by “+’; and ‘D’ replaced by *>’, find the value of the

following equation. (SSC Stenographer 2018)
51C17D15A22B34
(a) 45 (b) 55 (c) 33 d) 65

Which two numbers should be interchanged to make the given
equation correct? (SSC CGL 2019-20)
9+7%x5-18+2=3x4-10+45+5

(a) 7and4 (b) 9and3

(c) 18and45 (d) 2and5

The ratio of the present ages of Asha and Lata is 5 : 6. [fthe
difference between their ages is 6 years, the what will be
Lata’s age will be afier 5 years? (SSC CGL 2019-20)
(a) 40 (b) 35 (c) 41 d) 45

In the following equations, if “+ is interchanged with *~’ and
‘6’ is interchanged with *7°, then which equation would be
correct? (SSC CGL 2019-20)
(a) 76-75+77=56 (b) 62—67+T76=83

(¢) 67-76+43=100 (d) 78-68+66=359
Which two signs need to be interchanged to make the
following equation correct?

73-13x42+ 14+ 56=56 (SSC MTS2019-20)
(a) +andx (b) xand~+
(¢) —and+ (d) —andx

If the two signs, ‘+ and + are interchanged, which of the
following equations will be correct?  (SSC MTS 2019-20)
(@) 16+9+4x8=34 (b) 16=+21+13x26=56
(¢) 11+13x4+2=37 (d) 13x9+16+2=125
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If “+" means ‘divided by’, “~" means ‘add’, ‘x* means ‘minus’

and “+" means ‘multiplied by’, what will be the value of the

following expression?

[(32x24)—(4+3)] +(3-2)]+3 (SSC CHSL 2019-20)

(a) 6 (b) 8 (c) 10 d 12

There are 6 boys in a class of 11 students. A student is

chosen from the class at random to be made the class monitor.

What is the probability that the class monitor is a girl?
(SSC CHSL 2019-20)

@3 O @ @

In a training camp, three types of games hockey, cricket and
badminton were taught. 14% of the total students received
cricket training. 22% of the remaining students received
training for hockey. Half of the remaining students received
training for badminton. What percentage of students did
NOT receive training in any of the three games?

(SSC CGL 2020-21)
(a) 24.52% (b) 32.56%
(c) 33.54% (d) 67.52%
Select the correct combination of mathematical signs that
can sequentially replace the * signs and make the equation

correct. (SSC CGL 2020-21)
40 *15*3*72*9=77 (SSC CHSL 2020-21)
(a) +,%,+,—,= (b} +,+,— X, =

() x,++—= (d) +x,—+=

In a class of 68 students, 34 students participated only in
Debate and 8 students participated in both Quiz and Debate.
If every student of the class has participated in at least one
of these two competitions, how many students participated

in Quiz? (SSC CHSL 2020-21)
@ 22 (b) 34 () 30 (d 26

Which two signs should be interchanged to make the given
equation correct? (SSC MTS 2020-21)
18+9+12x4-8=15

(a) =and- (b) +and x

(c) —and+ (d) +and-

Ifthe signs —and +are interchanged, then which of the following
eqations would be correct? (SSCMTS 2020-21)
(a) 12+3+9-9=4 (b) 9+9-9+9=9
(c) 12+4-4+2=3 (d 6+3+12-6=5

. Which two signs and two numbers should be interchanged

in the following equation to make it correct?
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35+15-4x45+5=98
(a) 35and45; +and— (b) 15and5; x and +
(c) 35and45; xand- (d) 15and35: xand~+
If “‘A’ denotes “addition’, ‘B’ denotes ‘multiplication’, *C’
denotes ‘subtraction’, and ‘D’ denotes “division’, then what
will be the value of following expression?
43A22C15B4AT72D(10C2)="?

(SSC Stenographer 2020-21)
(a) 44 (b) 18 (c) 14 (d) 32
Select the correct combination of mathematical signs to
sequentially replace the * signs from left to Right to balance
the given equation?
44*32*%8*16*3*%0
(El} +, %, —, = (b) R
(C} +,— %, = (d) +, - %, =
IfZ=Y >R+ M and G > H =Z = Q, then which of the
following options is NOT correct?

(SSC Stenographer 2020-21)
(a) H=Y (b) G>Q
(c) R>Z (d Q>R
The average income of six friends A, B, C, D, E and F is
"6,500. The total income of B, D, E and F is ~ 25,000. IfA’s
income is ~ 4,000 less than C’s income, then what is the

(SSC Stenographer 2020-21)

(SSC Stenographer 2020-21)

income of C? (SSC Stenographer 2020-21)
(a) 256 (b) 289 (c) 25 (d) 324
If “A’ denotes “addition’. ‘B’ denotes ‘multiplication’. ‘C’

denotes ‘subtraction’, and ‘D’ denotes ‘division’, then what
will be the value of the following expression?
35 B2A5B40C37)A(8B4)DI6C 14="7
(SSC Sub-Inspector 2020-21)
@ 66 ® % © B @ %
Which two signs should be interchanged to make the given
equation correct? (SSC Sub-Inspector 2020-21)
25-5%50+10+35=155

(a) xand~+ (b) xand+
(c) *and-— (dy +and-
Select the correct combination of mathematical signs that

can sequentially replace the * signs from left to right to
balance the following equation.

(SSC Sub-Inspector 2020-21)
31*2*60*30* 15%49
@ x,5+-=

AR RLE I (b) X,—’+,+,=
(c)

_‘J+)+)x): (d) X>+1+1_>:
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(12+6)*x 18=36=(18+6) % 12=36

=3x12=
As,6x5=30
30x3+1=91
8xT7=56
56%x3+1=169
10x7=70
TOx3+1=211
Similarly
11x10=110

110x 3+ 1= [331]

Option (b)
24=4x5+4
=24=20+4

ﬁ

——> First Layer

\

> Second Layer

\
AN

—— Third Layer

yd

4 cubes each of the first second and third layers will
have paint on two sides only.

Therefore, total number of cubes having paint on two
sides.

=4x3=112]

Suppose the present age of Ashok is x years and that
of his mother is y years.
5 years ago
3(x—-5)=(y—5)
=3x-15=y-5
=3x-y=10 A1)
S years hence,
2(x+5)=(y+5)
=2x+10=y+5
=2x-y=-5 (i)
From equations (i) and (ii)
x =15 years
Suppose the number of women boarded the bus at
Delhi is x.
Therefore, the number of men = 2x
According to question,
2x—10=x+5
=2x—-x=10+5
sx=135
Total number of passengers boarded the bus initially
=3x
=3x15=45

10.

11
12.

13.

14.

www.jkchrome.com

(b)

(d

(d)

(b)
(@)

(d)

(©)

Suppose there were x passengers initially

Number of passengers after first stop = %+ 35

Number of passengers after second stop
5+

=—| =435 =
515 +40=80

_ (80-40)
4

— —+35

B |

X
— —=50-35=15
2

S x=30

Suppose the present age of son is x years.
Therefore, present age of the father = 4x years
According to question,

x+3=15

S X=15-3=12years

The present age of father

=4x =4 x 12 =48 years

.. The present age of man’s wife

=48 -3 =45 years

=2:2+5=7

2
Similary, =2+7=9

As, A=51x14=714
B=61x15=915
C=71x16=1136

- D=81x17=[1377|
5=15=+3
25%x2-6=4x11+0
=50-6=44+0,=44=44
5+4=9 and9x2=18
6+3=9and9x3=27
12+4=16and?

96
-2 -
Suppose his present age is x years.
According to question
X

X X
—+_+—-=x-13
4 5 3

www.jkchrome.com



16.

17.

(b)

©

(@)

12 www.jkchrome.com

15x+12x +20x
= 60
=47x=60x—780
=60x—47x=780
= 13x=T780

780

XSS 60 years
According to question,
Total number of families= 100

=x-13

Radio

50 Tv

SR
28

VCR 25
So, only 35 families have only TVs.
Suppose total number of workers in the office = x

Number of woman workers = %

.. Number of man workers

X 3x-x 2x
=x——= -_———

3 3 3

Number of married woman workers = % x% = %
Number of married woman workers who have children

= —XK—=—

18

. 2x 3 x

Numberofmamedmanworkers=?xz=5
Number of married man workers who have children=
X 2 x
_— e —
2 3 3
Number of workers who have children
_X X _6xix 7Tx
T3 18 18 18

Number of workers without children

Tx  18x-7x 11
81818
30-6+5%x4+2=27
=30+6x5+4-2=27

= 25+4-2=27=27, option (a) is correct
30+6-5+4x2=30
=30x6+5-4+2=30

= 36—4+ 2+ 30, option (b) is wrong
30x6+5-4+2=32

=X —

18.  (d)
19. (c)
20. (c)
2. (a)
22, (b)
23. (o)
24. (a)

www.jkchrome.com

=30+6-—5+4x2=32, option (c)is wrong
= 30:6x5+4-2=40
=30-6+5x4+2 % 40

option (d) is wrong.
9+7=16;
16x2=32
13+7=20;
20x6=120
17+9=26;

26x 8=208
19+11=30;

30 x8 = [240]

As,35+0.2=37
3.7+04=41
41+0.8=49
49+1.6=6.5

6.5+32=19.7

The pattern is as follows :
4+4=8
8+8=16

16+12=28]

28+16=44

44+20=64

Age of Shan = 55 years

Age of Sathian =55 — 5 =50 years

Ageof Balan =50—6 =44 years

AgeofDevan =44 —7=37 years

Difference between the ages of Shan and Devan = 55
—37=18 years.

=>20% families have own a car.

9-7=2
13-7=6
17-9=8

19-11=8

20
20% of 80= —x 80 =16
0 100

50% of remaining families have own a motorcycle each

80—16) % 50 32

( )* 100

The families which do not own any vehicle
=80-(32+16)=80-48=32
9x4+1x6=36+6=42
§x9+2x3=72+6=78

Similarly

6x3+4x5=18+20=

aVbVe

=a<b<c

Option (a)
aAb¢c=a>b=cor

a<b<zc
Option (b)
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25. (d)

2. (a)

27. (a)

2. (d)

29. (o)

apb+c=a<b=c
Option (c)
a0btc=a>b=c
Option (d)
albxc=a>bzc
5-4=1;4-3=1
I+1=2
6-0=6;5-1=4
6+4=10
6-2=4;7-2=5

4+5=9]

L = x

M= =

P =+

Q= -

16P24MBQ6M2L3="
=7=16+24+8-6+2x3
=?=16+3-3x3
=?2=16+3-9=10]
16=>(2+2)=(4)?

9= (3+0P=(3)
81 = (1+8P=(9)
Similarly, 64 = (4 + 4)*=(8)

4 3
Volume of sphere = 3 mr

2
Volume of hemisphere = 3 ar

Now,
i‘]’[]‘3 = ETLTB
3 3
4 2 3
or, 51’3 = 5(3%)

or, 1'3 =—x—x2Tx2

3 4
S.r=3cm
6+4=10;1+4=5;10-5=5
9+2=11:3+1=4;11-4=7
2+6=8;1+1=2;8-2=6

5+6=11;2+2=4,11-4=7]

P= =+ Q=x

R=+ S=-

I8Q12P4R586="
=?7=18x12+4+5-6
=?7=18%x3+5-6

=7=54+5-6=

13 www.jkchrome.com

31. (d) Here,25+5=5;5x3=15

2. (a)

3. (d)

4. (b)

35. (¢)

36. (c)

37. (d)

www.jkchrome.com

30+6=5:5%4=20
35+7=5:5%5=

As 3+3+4+5=15=1+5=6
and, 6% 5=30
9+0+2+6=17=1+7=8
and, 8 x 5=40

Similarly,
3+0+4+5=12=1+2=3

and, 3 x 5= [15]

Age of Manager = New Average Age + (No. of
Subordinates x Change in Average)

=31+ (25%1)=56 years

Suppose, in the beginning the number of students in
Class B=x

Therefore, the number of Students in

ClassA=2x

Now,

2x+20+x+30=140

=3x=140-50

SLX= % =30

3

Number of Students in Class A

=2x=2x30=60

Take LCM of 8, 12, 15and 20

208, 12, 15, 20
204, 6, 15 10
302, 3, 15,
sl2, 1, s,

2, 1, I, 1

L LCM=2x2x3x5%x2=120

Since the remainder to be left is 2, the number can be
given by 120K + 2, where k is a positive integer

120 1+2=122(K=1)

(3+8)x(1+5)

=11x6=66

(2+9x(3+6)

=11x9=99

Similarly;

(8+2)x(4+4)

=10x8=[80]

+ = + - =X

X =+ i
45+9-3%x15+2
=7=45+9%x3+15-2
=7=5x3+15-2

=?=30-2=

www.jkchrome.com



B/ (d) [78] +14=92
92+21=113
113+28=141
141+35=176
39. (d) Letfather’sageisx yr.
X
Son’sageiszyr.
X
X+Z=35 =>x=28yr.
Father’s age after 8 year is 36 years.
40. (c) 90+18x6+30—-4=56
41. (d) As,73+46=42
7-3=4,4+6 =10
Add4+10=14
14%3=42
Similarly, 6 -2=4, 8+0=8
4+8=12
12x3=36
42. (a) Series
447 458 489 540
| o o 1 [}
+11 +31 +51 +71
43. (c) D=SxT
20
Inﬁrstcase,20=SXT=:=T=? ..(1)
30
Insecondcase,30=(s+20}><T=>T=m...@)
From equation (1) &(2)
§=i:208+4{}0=305=>108=400
S S+20
= S=40mph
=S a0 2 r or 30 minutes
4. (b) 1x8x5x3xT7=73581
In this all the multiple are written in reverse direction to
get the number
S 9%x4x3x2x8=82349
6-4=2
Addition=4
45. (b) 5_3=2] 1t
8-6=2
Addition=4
4-2=2
=> | Addition=10
imi ition =
Similarly; 7_9=5
46. (b) The expressionis:
30K2Q3J6T5

=30+2+3%x6-5

14 www.jkchrome.com

47. (b)

48. (a)

49. (d)

50. (b)

51 (d)

52. (a)

53 (b)

54 (b)
55. (b)

www.jkchrome.com

= 15+3x6-5=15+18-5
=33-5=28

The expression is :

8112 He 16 You 2 we 10
=8x12+16+2-10
=8x12+8-10
=104-10=94

Suppose the present age of Arun is 4x years and that of
Deepak is 3x years.

6 years hence,
Arun’sage=4x+6=26

— 4r=26-6
_20_,
X=y=

Present age of Deepak = 3x= 15 years
235=(2)" +(3)° +(5) =38
452 = (4)" +(5)° +(2)" =45

345 = (32 + (4 +(5) =

2 x 3
23 x34

4 9

5 x 6
x5 ¥ x6 ¥

25 36

1 x 9
x14 %9l

1 81

4 x 7
x4l x7d

16 49
XK=+ | +=—
+=+ | —=x

14x4:70+10-2=2
= 2=14+4-70+10x2
—=7=14+4-Tx2

= 7=18-14 = [4]
5*5*5%3%10
=5x5+5=3x10

=30=30

8+2:3-4x6

= R+2-3x4+6

= 4-12+6

= 2

16—8+1=8

Year 200612007 |2008(2009{2010)2011

No. of user| 4 8 16 | 28 | 44 | o4
| I I ) A )
+4 +8 +12 +16 +20
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56. 4x2x6=1626=(4")26=1626
® 3x?x4=974=,§3§§74=974 8 © |[+=x|<=-
5 5x6x8=(5%)68=2568 =t [ X=x | =
57. (a) By checking options Option (a)
36+6x3+2=6x3+2 20-4+4+8<2%26
=20=20 = 20+4-4x8+2>26
58. (a) Son’'sage=6 yrs. =20+4-4x4>26
Father’s age=230 yrs. =>24-16>26 = 8> 26 (not possible)
Let ‘x” be the yr. after which father will be 4 times as old Option (b)
as his son. 20%8+15<5+9-8
According to question =20>8x15+5-9+8
30+x=4(6+x)=30+x =24 +4x =20>8x3-9+8
= 6="13x. =20>24-9+8 = 20> 23 (not possible)
x=2. Option (c)
Hence, require year is 2 yrs. 20<2+10+4-6x100
59. (b) Thenearest perfect square less than 2486 is 2401. = 20+2x10-4+6>100
= 10x10—-4+6>100
2486 [85] =2401=49 x 49 — 100—4+6> 100
y xd— = 106—-4>100=102>100
60. (¢) (6+12)x4=18x4 Option ()
6. © oI T=T:issl-5x 20<5+25+10-2%96
=20+5%x25-10+2>96
il Bl el i =4x25-10+2>96
form (1) = 100-10+2> 96
3Ix2<4+16>2+4 = 102—10> 96 = 92 > 96 (not possible)
=3+2_4>16%x2+4 65. (b) 8x20+3+9-5=38
16x2 =8x20+5+9-3=38
=5-4> = 1 > 8 (not possible) =8x4+9-3=38
4 =32+9-3=38
from (2) 66. (@) 33x11+3-6=115
5>8+4=10<4x8§
=5x8+4<10-4+8 :(ﬁ)—(S:llS
=5x2<18-4=10<14 3
form (3) =121-6=115
3x4>2-9+3<3 67. (d) 15*%24#*3*6%*17
=3+4x2=9+3-3 =15+24+3-6=17
=3+8 2 3-3 =15+8-6=17
from (4) 68. (a) Solve by options, we can check all the options one by
Sx3<3+8+4x1 one.
=5+3-3>8+4+1 25+5%20+27-7=>5%20+27-7=100+27-7
=8-3>2+1 120 =120
=5>3 6. (a) AOBxC
Both (2) and (4) are correct. ABB:BxC
11>3=33 Hence, option (a) implies the given equation.
2+99=2+9=11 7. () (6+3}—0(%+(})(=)6><I;=30 e
11x3=33 (7+2)—(1+0)=8x5=40
Similarly, 5 (8+1)—(6+0)=3x5=15
44+88=4+8=12 7. (b) Su h Feon i
: ppose the age of son is x years
12 X3= Therefore, age of father = 10x years
63. (a) PipeA canfillatank completelyin 5 hours. On account According to question
of a leak at the tank, it takes 5+ 3 = 8 hours to fill the 10%+x 44
tank. Time taken by the leak to empty the full tank 2 =22 = 11x=44 .. x= n =4 years
_5x8 40 . Age of son = 4 years.
=g_s 3 _3hours20minutes Age of father = 10 x 4 =40 years
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72.

74.

75.

76.

(©

(@)

©

L=12;12x2=24
0=15;15%2=30
N=14;14%x2=28
D=04;04 x2=08
0=15;15%2=30
N=14;14%x2=28
Therefore,
F=06,06x2=12
R=18;18 x2=36
A=01;01%2=02
N=14;14%x2=28
C=03;03 x2=06
E=05;05 x2=10
20 %48
=2x9x4x8=576
35%16
=3x5x1x6=90
22 x 46
=2x2x4x6=96
Therefore,

42%17

=4x2x1x7=]56]

P=x |[T=-

M=+

B=+

12P6M15T16B4="

=7=12x6+15-16+4

=9=72+15-4=

b) [+=>[d=<

— ==

x == | |=<

L=+

ABxC =A<B=C
B+C|A=B> C<A
C-B+A=C2>B>A

B|A|C=B<A<C

APB|C=A<B<C
(©) |A=< |B==|C=<

D=> | E=# | F=>

2MBN

N

=>2M=N=:>M=E

2NA3K

= 2N<3K=4M<3K

Option (a)

2MD3K

=2 M=>3K: Not True

Option (b)

2MB3K

=2M=3K: NotTrue

Option (c)

2MC3K

=2M<3K :True
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Option (a)
Option (b)
Option (c)
Option (d)

77. (b)

8. (d)

8. ()

www.jkchrome.com

Option (d)
2KB3N

=>2K=3N:Not True
Let uncle’s present age = x

Rahim's present age =y

x—y=30
After 7 year
x+7+(p+7)=66
X+y+14=66
Xx+y=52

combining (i) & (i) we get
(x+y=52)+(x—y=30)

2x=82

x=41 so,uncle's age is 41.

Q+®+Q
I | I
17+3=20

®+0+0®
I | E—
14+3=17

CRNORNC)
L a7

20+3=23

¥
5><i><4=456

¥
3Ix6x5=536
‘—lﬁ‘l‘

Similarly,
4x8xT7=748

9+7-2x3=10
9+7-6=10
16—-6=10
35+7x5+5-6
=5%x5+5-6
25+5-6
30-6=24

A=C-4 ..
B=A+15 ..
c=B-15 ..

From (1)and (3)
A=B-11-4
A=B-15
A:B:C

B-15: B: B-11

B-15+B+B-11=178

3B=178+26=204 —B=068

A=53,C=57

(i)

(i)

Let woman has number of 25 p coins =x
Number of 50 p coins =y

Then, value of 25 pcoins =" 3
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&4 (d)

8. (¢)

87. (a)

88. (a)

89. (a)

90. (c)
91. (a)

92. (b)

value of 50 p coins =" %

Now, —+2 =12.75 1
uw,4 5 =12 (1)

and x+y=40 -(2)
On solving question. (1)and (2)y=11
Hence, the number of 50 p coinsis 11.
Let the present age of sunita = x year
Then, the present age of sunita's father
= 4x years

After 8 years,

4x+8=3(x+8)

4x+8=3x+24

4x—3x=24-8

x =16 years

I£5+7=12=21

9+4=13=31

Then,

7+9=16=61
If,532+781=(5+3+2)+(7+8+1)-5
=10+16-5

=21
862+910=(8+6+2)+(9+1+0)-5
=16+10-5

=21

Then
796+355=(7T+9+6)+(3+5+5)-5
=22+13-5

=30

After interchanging sign—
10x5+5-5+5=10%x1-5+5

=10-5+5
=15-5
=10
Pra
Rupa= ;een

Praveen = Deepak + 6 as Deepak = 12
So, Praveen=12+6=18

i 18
Rupa’sis age = 5" 9 years

18—6+4%x6+2
= 18-6+4x3
=24
=27+3%6-9+8
=9x6-9+8
=54-9+8

=53

From the option (b) on putting the signs
4x6+2-4+8=30

24+2-4+8=30

22+8=30

30=30
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93. (b) 35:7+25=15x2
5+25=30
30=30

. (¢ 7x 9 x 6 x5
R
5 x 7 x 4 x 3

Similarly
8 x 4 x 14 x 12
BRI

6 x 2 x 12 x

95. (b) It takes 15 cm per minute but it comes back 2.5 cm in
every 15 cm.
So,15-25=125cm
as Im=100cm

10
then, it will take to cover a distance of 1 m= ~—— =8 min.

12.5
96. (d) Going by options; Box 1  Box 2
5] + @
If 1 cande in box number is placed in box number 2 then
Box1 Box2
4 : &

Therefore, Box 2 has twice the number of candles than box 1.
If1 candle from box 2 is placed in box-1

Then- Box 1 Box 2 Hence, Both boxes have the same
6 : [6]

numbers of candles.

(b) 4+6x2=16

(*) Going by options:-

(@) 45+3x6+2=16
54=16

(b) 45+326x2=16
46#16

(c) 45+3x6-2=16
61=16

(d) 45+3+6-2=16

52#16
None of option matching, Hence question is wrong.
99. (c) 8x5+10=2x25
50= 50

100. (b) My Home

S

[1]3]s][7]o[tn]13]1s]17]19]21]

Man from no.2
l 5 houses beyond my house.

Y
|2|4|6|8|10|12|l4|16|]8|20|22|

Hence, 20 is the number of that house.
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101. (b) Govind's age =48 years

102. ()

103. (a)

104. (c)

105. (b)

106. (a)

107. (b)

18 www.jkchrome.com

According to question
Prem's age = 48/2 = 24 years
Prem's age seven years before =24 —7 =17 years.
By options—

(a) 22x7+3-9=148
154+3-9

157-9=148 (Correct)
33-5+10%x20=228
33-5+200

200+33-5

233 -5=228 (Correct)
Tx28+3-52=127

196 +3-52

199—52 =147 (Incorrect)
44+9x6-11=87
44+54-11
98—11=87(Correct)

5 % 62 35

(b)

©

(d

g x 42 28
&

6 * 82 46

(@) 12+3x4 =6-8x8
12+12=6-64

By options, 24 = 58 (Incorrect)
- 58>24
12%x3+4=6—-8x8
36+4=6—-64

40 =58 (Incorrect)
--58>40
12%x3+4=6x8-8
36+4=48-8

40=40 (Correct)
12x3-4=6x8+8
36-4=48+8

32 =56(Incorrect)

-+ 56>32

Mani’s Age = 60 years
Prabhu’s Age =60/2 = 30 years
Romana’s Age =30/2 = 15 years

(N x[L} M) + K =31
(11x5+7)+2=31

62+2=31
First and last digits of each equation have been
interchanged.

x3x4=432
~—~— T

(b)

(©)

(d)

e~
5x6xT7=T765
\-._,_.-a-a
e
Tx8x9=987
~——7

e
2x5x7=T7352
~—_ T

108. (c)

109. (b)

110. (b)
111. (b)
112. (d)

113. (a)

114. ()

115. (c)

www.jkchrome.com

Trend in decrease:

261505725 23235

-4 - _
20— 16=2511=50)
Let ‘D" be the distance between A and B and T be the
time taken by them
Then,
Distance =Speed * Time

D=40 x (T+5J
60

D=30x [T+£]
60

(1)
Q)

Equating (1) and (2)

40 (T+l) =30 (T+3] = 40{4T+]}=30{ST+2]
4 5 4 5

40T+10=30T+12
2
T= 1o hour
1
T= 35 hour
Putting *T” value in equation (1), we get

D=40x{l+l]= 809 _ g km.

5 4 20

Hence, the distance between the two stations is 18 km.
46x6+4+5-3=46%x15+5-3=69+5-3=T71
18x6+4+2-3=18x1.5+2-3=27+2-3=26
(A) Virgo is the sixth sign of zodiac.
(B) Volleyball is a team sport in which each team has six

players
(C) A highest scoring short of a particular sport is six.

A =4
D=>

B=# | C=#

F ==

E =<

Premises :
4Y=3xand3x=6Z

() 2Y=3Z(¥)

(€)2Y >3Z(x)
16+64—-8x4+2
=16+64+8-4x2
=16+8—-4x2
=16+8-8=16

Let basic payof A=" x
Let basic payof B="y

(b)4Y #5Z (%)
(d)2Y <3Z (%)

As per given condition

Total salary=x +0.65x=1.65x
Total salary of B=y+ 0.80y= 1.8y
1.65x=1.8y

X 18 180 12

So ratio of basic pay=12:11
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116. (a) A Sonet height climbed in one day
—16-3.40 128. (a) m=678
+ =126m
2am Is m 40 cm. Similarly m —456
16 m 129. (¢) Puttingx=+,—=+ +=—and+=x
B Only16+5-10%4+3=9
117. (a) Letthe speed of Aand Bin first lap=3x and 2x. Satisfy the equation 16 x 5+ 10+4—3=9
Speed of Aand B in second lap=4x and 7x 9=9
Speed of A and B in third lap=8x and 9x
Total speed of horse A= 8x +4x + 3x =15x 130. (b) 4/:-5;'33 =524, H@:?B’
Total speed of horse B=9x +7x +2x =18x -
Difference between Aand B=18x — 15x =3x —376
So correct answer is (a). 6x8x7
118. (b) 24+6x4+9-8
4x4+9-8 9'{(:’?'3':459
16+9-8 131. (b) Putting+=—,—=x;+=-+andx=+
25-8=17 ]
119. (¢) As,7x6x4=674,8%5x3=583 in  15-3+10x5+5
Similarly, = 15x3-10+5+5
9 x1x2=192 45-2+5=48
120. (a) (x) sign has been changed by (+) sign.
Therefore, 9+ 8 +7 =24 SN <\ SN
4+7+3=14 132.(b) 7x4x9=479,0x5%x2=592, x9x5
2+1+9=12 ST

=0965,8x6%x2=682

121. (a) 5+2-12x6+2=10
133. (b) Age of Son=x, Age of doctor =4x

Can be written in original signs as

5x2+12:6-2=10+2-2=10 4x+10=2(x+10)

122. (b) Rewriting the expression 16 Q 12 P6R5S4 with original 4x—2x=20-10
signs 2x=10
l6x12+6+5—-4 Xx=5
=16x2+5-4 Age of Son = 5 year
=32+1=33 134. (a) Let the age of Mona=x

123. (¢) 72x19=23 =(7x2+1x9=23)
13x48=35=(1 x3+4x8=35)
16x43=18=(1 x6+4x3=18)
S0,39%x22=2=(3x9+2x2=31)

Her husband age =y
Daughter's age ==z
Alc to the question

124. (c) Writing the expression with actual sign y=x—6 (1)
64+8+32x4=8+128=136 3z=x @)
125. (a) [fall the signs are changed as per given in the question z-3=3 &)
=8
only25+ 10— i><3=43 will be satisfied 25 x 10 +5— -
10 So, x=5x8=40
10+3=43 AgeofMona=40-6=34
126.(d) 53 -34 635 -46 67
D O TR e A 135. (b) 678 : — = Quotient (Q)=8, Remainder (R)=3 i.e=83
53 3 4 6 4 56 8
7 5.-2 4 47
J >§s¢ 476: - =Q=7,R=5ie.75
72 574

127. (b) 24+82-6x6 56 _
567: —- =Q=8,R=0i..80

24
will be written as ?—2X6+6=3—12+6=—3 6
369: ) =Q=4,R=01.e.40
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136.
137.

138.

139.

140.

141.

(b)

(b) Let present age of Rakhi= x years
Age of Rakhi at the time of engagement =
(x—10) years
According to question,

5
==x(x-10)
X 3)()(

3x=5x-50
2x=30

x=%?=25wms

Mother's age of Rakhi =2 x 25 = 50 years.
Mother's age of Rakhi at the time of her
engagement = 50 — 10 =40 years.
(c) Option (a),
9-3+8+4x7=28
200 #28
option (b),
9x3_-8+4+7=28
32#28
option (c¢),
9+3+8x4-7=28
28=28
. option (c)is correct.
(b) As,
4*5% 3=38000
= (4x5P=8000
and
2%5%2=36
= (2x3)*=36
Similarly,
4*3%3="?
(4x3yP=1728
(c) Let A’s present age be x
B'sage=x—-9
A’s age 3 year later
=xt3
B’s age 4 year ago
=x-9-4
Afc to the question
x+3+x-9-4=76
2x=86
x=43
B’s present age=43 -9
=34

C’s present age = >

34
Hence age of C after 10 year = > 17+10=27

(a) option (a),
4x3+6+2-T7=8
15-7=8
So, option (a) is correct.

20 www.jkchrome.com

www.jkchrome.com

142. (b) As, 3#4%8=6
3+4x8=6

zx8=6
4

and 9% 4#3=12
Ox4+3=12

9><i=12
3

Similarly, 12% 6 #24 =7
12x6+24=3

6
12x—=3
24

So, answer is 3.
143. (b) Fromoption (b).
18+6x9=27

18
—x9=27
6

So, option (b) is correct.
144. (b) As,
36x5

18x3 _ %0
6 6

Similarly,

19x18
e

So, value of A is 57.

Let present age of P=5x and

present age of Q = 8x

According to question,
After 3 years,

5x+3 8

8x+3 11

64x +24=>55x+33
64x—55x=33-24
9x=9

57

145. (d)

x=—=1

9
.. Presentageof Q=8x=8 x 1 =8 years.
146. (b) The expression is:
15516Q2P4=47
15+16 2x4=47

47=47
So, option (2) is true.
147. (d) As,
4 * 7 % 2 =361
| | - A
|
—1
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2 *1 *3 =10 2

148. (a) If

then,

126+ 14-7x3+2=-10
149. (b) According to question;

As 12x9= ,l.Eﬁ =810

15x9=135 =513
Similarly;
13><8=L{)i=>410.

150. (c) Lettotal age of a mother= x
total age of her daughter =y

Accordfﬁg to questibn,

X+y=60 ...(i)
x—y=30 ..(ii)
from Eq. (i) and (ii)

x=45

y=15

oo Age of mother =45 years.
I51. (¢) If
Q=x

=+

Then, 18Q12P4R5S6="?
18x12+4+5-6
18x3+5-6
59-6=53.

152. (b) From option, (b)
14+2x4>6%x4
28>24

. Option (b) is correct.

153. (¢) From option (c)

43-9+6+3x8=50

43-9+2x8
43-9+16

50=50

So, option (¢) is correct.

154. (d) As,
49-2=47
90-6=284
Similarly;
53-7=46

44U

LUy
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155. (d) As
Va3 =(1+ 1) (4+1)/(3+1)=2/5/4=254
36/ =3+ 1) (6+1)/(8+1)=4/7/9=479
Similarly
5/2/T=(3+ 1D/ (2+1)/(T+1)=6/3/8=638
156. (c) As,
85%x5-3=20=85+5+3=20
18x2-1=10=18+2+1=10
Similarly,
100%20-5=10=100+20+5=10
157. (c) Option (c)
25+ 18 +2-4=20 (Byinterchanging + and -)
25-18+2+4=20
25-9+4=20
So, option (c) is correct.
158. (b) Letpresent age of Aand B be 3x and 5x.
According to question,
C celebrated his 10" birthday 4 years ago,
Presentage of C=10+4=14
Now,
After 7 vears,
(5x +7)=2 x (present age of C +7)
S5x+7=2(14+7)
5x+7=2x21
Sx=42-7=35

=—=17

.. Present age of A=3x=3 x 7=21 years.

159. (b) Tanya’s mother is thrice the age of her daughter
So, Tanya’s mother Nisha’s current age
=3 x10=30 years.
Tanya’s father Deepak’s current age
=30+5=35years.
So, Deepak’s age at the time of Tanya’s birth
=35-10=25 years.

160. (b) 8x2+5-16+4=14
After changing “x’ and ‘+°, we get
8+2%x5-16+4=8+10-4=14

161. (a) Let Malini’s current age is x years, then Shipra’s current
age is (65 — x) years.
ATQ,
(65-x)+5-(x+5)=15
65 —-2x=15=2x=50,x=25 years
Hence, Malini’s current age = 25 years.

162. (d) 5+16-4%x14+2=59
changing + and —, we get
5+16+4x14-2=59
5+4x14-2=5+56-2=59

163. (d) The given expression:
15+15-2x10+35=16
After exchanging “+" and *+’, we get
15+15-2%x10+35=16
1-20+35=16
36-20=16
l6=16.
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164

165.

166.

167.

168.

169.

170.

171.

172.

173.

174.

- (b)

From option (b)

18 +12x8-6+3=9

18+ 12x8—6+3=9

18

EX8—6+3=9 = 12-6+3=9
9=9(L.HS=R.H.S)
So, option (b) is correct.
From option (a)
9+4+2-6x3=4+3x6-9+1
9+6+2-4x3=6+3x4-9+1

9+E—4><3=Ex4—9+1
2 3

U

U

Y

9+3-4%x3=2x4-9+1
12-12=8-9+1
0=0(L.H.S.=R.H.S)

So, option (a) is correct answer.

From option (b).
12+4+2-6%x3=3+12+6x2—-4
12+6+2—-4x3=3+12+4x2-6
12+3-12=3+3%x2-6
15-12=3+6-6
3=3(L.H.S.=R.H.S8)
20A15C3D8BY

20+15+3x8-9 = 20+5x8-9
20+40-9 = 60-9=51
25+5%x7-12+3=26
25+5%xT7—12+3=26
5xT7-12+3=26 = 35-12+3=26
23+3=26 = 26=26
5+3%x4-12+2=-1
5-3x4+12+2=-1
5-12+46=-1 =11-12=-1
-1=—1(LHS.=R.HS)
51C17D15A22B34

= 51+17x15+22-34

= 3x15+22-34 =45+22-34=67-34=33
(a) From option (a)
9+7x5-18+2=3x4-10+45+5
= 9+4x5-18+2=3xT7-10+45+5
= 9+4x5-9=3x7-10+9

= 20=20(LHS.=RHS)

So, option (a) is correct.

bou

G

U=y

Uy

()
=
=
=

©

(c) Let present ages of Asha and Lata =5x and 6x
According to question,
6x—5x=6 x=6
. Lata’s present age=6x=6 x 6 =36
.. Lata’s age after 5 years = 36 + 5 =41 years
(c) Fromoption (c)

67-76+43=100

After interchange (+ and —) sign
67+76—-43=100

= 143-43=100 =100=100
So, option (¢) is correct.

From option (c),

73—-13 %42+ 14+56=56

(©)
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175. (a)

176. (d)

177. (a)

178. (c)

179. (a)

180. (d)

181. (b)

182. (c)

www.jkchrome.com

After interchanging the signs —and +
73+ 13 %42+ 14-56=56.
73+13x3-56=56.

73+39-56=>56

112-56=56

56=56

So, option (c) is correct.

From option (a),

16+9+4 x8=34

Afier interchanging the signs + and +
16+9+4x8=34

16+g 8=34
— x 8=
4

16+18=34;34=34

So, option (a) is correct.

We have,

[{(32x24)—(4+3)} +(3-2)]+3

On interchanging the signs

[1(32-24)+ (4 x3)} +(3+2)] %3

=[{®)+(12)} =(5)] x3=[20+5]x3=4x3=12.
Given, total Students=11

Total Boys=6

i.e. Total Girls=11-6=5

ﬁ .
Let there are total 100 students in training camp.

Probability that the class monitor is a Girl =

14
Cricket training received = 100 x 100 = 14 students

Hockey training received

2 22
= (100—14) x =2 =86x —— =18.92
(100~ 14)x m

Badminton training received

1
= (86-1 8.92}x% =67.08x §=33.54%

The students did not receive training in any of the three

games = Remaining half students = 33.54%
68+138+23-54=20
68+6—54=20;74—54=20

20=20

40+15%3 -72+9=40+45-8
=85-8=77

5

Hence, number of students participated only in Quiz
=68 —(26+8)=34

18+9+12x4-8=15

By interchanging (-) and (+),

Debate
26

4
= 18-9+12%x4+8=9+12x 3

=9+6=15
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183. (d)

184. (c)

185. (c)

186. (d)
187. (¢)

188. (b)

6+3+12-6=5
By interchanging sign —and +,

12
6-3+12+-6=3+ ? =3+2=5

Hence, option (d) 1s correct.
Interchange 35 and 45, x and —
=45+15x4-35+5=98
=45+60-7=98
=98=08
A denotes addition
B denotes Multiplication
C denotes Subtraction
D denotes division
=43+22-15%x4+72+(10-2)
=65-60+9=14
44+32+8-16%3=0
44+4-48=0
Z=Y>R=MandG >H=72=Q
R > Z is not correct.
Sum of incomes of A, B, C, D, E, F is=39000
Total income of B, D, E, F =25000
A=C-4000
A+ C=39000-25000
A+C=14000
C—4000+C= 14000
2C=18000
C=9000

23 www.jkchrome.com

189. (a) A+AZ+A3=399

190.

191.

192.

www.jkchrome.com

(©

(©

@

-1
Putting the value 7" in equation (1), we get v
T+(TP+(7)

= 7+49+343=399

B+B>+B3=819

Putting the value “9° in equation (2), we get;
9+ (932 +(9y

= 9+81+729

= 819

Hence, according to question;
(A+BR=(7+9)*= (16)>=256

o))

A ss_'_! B aﬁxs

C—> — | D—>~
35B2A5B(40 C37)A(8 B4 D16 C 14
35%2+5% (40 -37)+(8 x4)+16 — 14
70+5%3+32+16-14
70+15+2-14=73

Interchange x and—25 x 5— % +35

= 125-5+35=155
31x2+60+30-15=49

60
62+ ——15=49
30

64-15=49
49=49
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